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@®SumTest.java

class SumTest {
public static void main(String[] args){
System.out.println(args[0]+args[1]+args[2]);

}
}

@javac SumTest.java

@java SumTest 123
@java SumTest 1 2
@java SumTest 1
@java SumTest
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@®SumTest.java

class SumTest {
public static void main(String[] args){
if (args.length == 3) {
System.out.println(args[0]+args[1]+args[2]);
}else {
System.out.printin("5[£1Z 3 D AN TL X W");
I
}
}

@javac SumTest.java

@java SumTest
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@®SumTest.java

class SumTest {
public static void main(int[] args){
if (args.length == 3) {
System.out.println(args[0]+args[1]+args[2]);
}else {
System.out.printin("5[£1Z 3 D AN TL 7Z X W");
}
}
}

@javac SumTest.java
@java SumTest 123
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@®SumTest.java

class SumTest {
public static void main(String[] args){
if (args.length == 3) {
System.out.println (Integer.parselnt(args[0])
+Integer.parselnt(args[1])
+Integer.parselnt(args[2]));
}else {
System.out.println("5[#01% 3 D AN TL 72 & W");
1
1
1

@javac SumTest.java
@java SumTest 123
@java SumTest 12 a
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@®SumTest.java

class SumTest {

public static void main(String[] args){
if (args.length == 3) {

try {

System.out.println(Integer.parselnt(args[0])
+Integer.parselnt(args[1])
+Integer.parselnt(args[2]));

} catch (NumberFormatException e) {
System.out.println("5 U I EUEZ AL TL 72 & W");

I

} else {

System.out.println("5[#01% 3 D AN TL 72 & W");

}

}
}

@javac SumTest.java
@java SumTest 12 a
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@ AverageTest.java

class AverageTest {
public static void main(String[] args){
if (args.length == 7) {
try {

System.out.println((Integer.parselnt(args[0])
+Integer.parselnt(args[1])
+Integer.parselnt(args[2])
+Integer.parselnt(args[3])
+Integer.parselnt(args[4])
+Integer.parselnt(args[5])
—I—Integer.parselnt(args [6]))/7);

} catch (NumberFormatException e) {
System.out.println("FEUC ITE{EZ AN TL 7ZE 0W");
}
}else {
System.out.println("51£0(x 7 D AN T L & W0");
}
}
}

@javac AverageTest.java

@java AverageTest 18 27 33 41 29 98 49
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